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B EHEE REE(GOGAT)# MR &1 BB
(5 2: ADS-W-NO029 #%5E 96 #£)

MEEN :

GOGAT J iz A T, M = B E & ol 3 R #4) s GS/GOGAT 153, S5 FMLI
e

MERIE:

GOGAT A A Z Bk e () 2 B A B o -l 1R, TR 7 T I 22 [F NADH 4Afk
4B NAD',  340nm W% BE )R BT 2 0] DU ik GOGAT & 1 KN
EEENEAM:

BB BB 0L AKiEE. TR E A T B /96 FLAR |
BIFER . UKFNZETRIK .

1307528 AR FAEC I -

PEEU: WK 100mLx1 i, -20°CHR-AF:

R —: WK 20mLx1 i, 4°CLRAE:

R = BT, -20°C fRAF

TH B R BN -

1 WA B B R B B0 N, B0 a7 B3 % IRAE 500 T4 BB AN ITmL 325U,
R FE R A B B AR (ThE 20%, S 3 Fb, (AR 10 &b, HEE 30 k)5 8000g4C &L 10
oyER, BCENE, BUK BRI

2. FREXZ) 0.1g HEZL, A ImL $EBGHEE TSI . 8000g 4°CHLr 10 438, HL BiE, B
UK EAE

MELER:

Ly e TH ek BEAR A T4 30min A E, K S 340nm, ZEIR/KIHZE,

2. FEARME

(D ARG = 18mL 155 — /- E IR >, 25°C/Ki#A Smin;

(OFEEA S B MY 96 FLAR I 20 1 L #EACAT 180 1 L7 —, #8241, SLE[C 5% 340nm
Ak 20s B FIIROEAE AL AT Smin20s J5 RIPROGIE A2, HEAA=A1-A2.

GOGAT 5EMHIHE :

a AMEAELLEMNENTEARNT

(D FEAREHRE .

BRLH5E X & mg 4L4UER AR5 B FE 1 nmol [ NADH € XN — /MBS 71 847 .
GOGAT (U/mg prot) =[AAXV i+ (exd) x10°]+(CprxV Ff) +T=322xAA+Cpr

(2) FRPEAREEE A

BRTISE X B g HEEE 40 FE 1 nmol NADH & SN —NEEE 71547

GOGAT (U/g #fH) =[AAXV i+ (exd) x10%1+(V FE+V FEEXW)  +T=322xAA+W
(3) %4 R4 B % T

BRL)E X B 1 A B A H A 73 80 E FE | nmol NADH & X — /M /7 ERA07 .
GOGAT (U/10% cell) =[AAXV s+ (exd) x1091+(V FE+V FEEx500) +T=0.643xAA

V B RONARREAER, 2.x104L; e: NADH EE/RIEEREL 6.22x10°mol/L/em; d: b
BIEAE, lem: VEE: IIAREAAEFL, 0.02mL: VAR MAIRBURMAR, 1mL: T: K
RiFAE], 5 min; Cpr: HEAREEFKE, mgmL; W: FESFE, g 500: 4005 S0 s %,

www.adsbio.cn Y A



ik
Y A e

400-080-7688

500 Ji.

b.F 96 FLAR I B KT E AR T

D FEAREARE T

R HSE X & mg 4L4UER AR B FE 1 nmol [ NADH 5 XN —/MEHE 71 847 .
GOGAT (U/mg prot) =[AAXV i+ (exd) x10°]+(CprxV ¥f) +T=643xAA+Cpr

(2) FuMEAREEE A

BRTISE X B g HEEE 40 FE 1 nmol NADH & SN —NEEE 71 547

GOGAT (U/g f£H) =[AAXV K+ (exd) x109]+(V F+V FEEXW)  =T=643xAA+W
(3) %4 R4 B % T

BARL)E X B 1 AN B A M A 23 8P E FE | nmol NADH & X — /M /7 B0 .
GOGAT (U/10% cell) =[AAXV s+ (exd) x109+(V FE+V FEEx500) +T=1.286xAA

V R RNAR R EEFL, 2.x104L; e: NADH EERIEG A%, 6.22x10°mol/L/cm: d: 96
FHOEE, 0.5cm; V BE: IIAFEARMAF, 0.02mL; V FEiE: MASZEURAR, 1mL; T:
SONEFTE], 5 ming Cpr: FEARERWE, mg/mL; W: FERRE, g 500: 40540
., 500 Ji.
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